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This question paper consists of fivre questions. All the questions have to be

answered. Question Nos. 2 to § have an internal choice.
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will be awarded, 1t ihe answer is written

in any other medium. All the five questions must be answered. Questions

exactly in order 1n which they appear 1n the question

should be answered

the various parts of
« of other questions should be inserted

the same question should be written

paper. Answers Lo

together compulsorily and no answer
used in exam, not the scientific

hetween them. Regular calculator alone can be

011€.

The first question will be of short answer type consisting of 20 compulsory

questions, oach one is to be answered in one or (Wo lines.

Hﬁwﬁmﬁﬁ%wwwaﬁ|

Wherever word limit has been given, it must be adhered to.
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r of printing or factual nature, then out of the Hindl

In case there 1s any erro

on. the English version will be treated as

and English versions of the quest

standard.
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(G) Safyserr = 2

What 1s monopsony ?

(H) fa=wr gy =1 gftamn SS9 |

Define the expansion path.

(I) AT gHT dFaisd |

Explain Euler’s theorem.

(J) et (Tafeq) @mel | 0 = WEEs §O?
What do yvou mean by implicit costs ?
Ky TF ®F % ST K 79 fag &el a1 & 7

Where 1s the shut-down point of a firm’s production ?

(L) ofdg =8 391 £ 2

What are mark-up prices ?

(M) 3I9EH hi d9d dded |

Explain the producer’s surplus.

M1312010 13(1)
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(N)  THhifesr wfe aom & 2
What is monopoly power ?

(O) 799 T w1 39 sERd
Define the investment multiplier.

(P) Y51 % Hm gwa@ 9 =men st
kxplain the marginal efficiency of capital.

Q) TARIEE @1 Sd2y
Explain the fiscal deficit.

(R) =1 Tures skt faa=r =sifsm
Explain the deposit multiplier.

(S) 3R gR3T ¥ 1 ad § 2

What is deforestation ?

M1312010 13(1) P.T.O.



2.

Explain the relationship between average revenue, marginal revenue and

does a firm use a factor 1n 1ts

Explain the three stages of production. Why

second stage ?

60

mﬁwﬁuwﬂ?tﬁﬁmmmﬁﬁaaﬂﬁms

Explain the price-leadership by dominant firm under oligopoly.

AHeadl

(Or)

CEERINCALSI

Emragte ateferaTel § HifgEw TG F1 gigF *

Explain the role of monetary policy 1m a developing economy.

M1312010 13(1)
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4. 9T R F V'FHg vifE A’ fogid o sTeeEens s FIfFT | 60

Critically discuss the “Purchasing power parity theory” of exchange

rate.

HdT

(Or)

Wmﬁwqwrémﬁﬁwwéﬁﬁ%@wmﬁm|

Explain the role of Asian Development Bank in the context of Indian

eCONnomy.

5. me%mzoomﬁﬁﬁm%&ﬁ%@: 15x4=60

) 1R IS W anfde faww § qfger

M1312010 13(1) P.T.O.
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Write short notes on any four in 200 words each :

(ii)  Factor price equilisation theorem

(iii)  Proportional, Drogressive and regressive tax system

jv) Representative firm, equilibrium firm and optimum firm.

() Non-Renewable resources

wi) Role of foreign capital in economic development.

M1312010 13(1)
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Instructions to the candidates :

1
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T'his question paper consists of fire questions. A/l the questions have to be

answered. Question Nos. 2 to 5 have an internal choice.
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The total number of marks of the question paper is 300 and the time allotted

is 8 hours. All questions carry equal marks, unless specifically stated
otherwise. Answers should be written in the medium which you have chosen
in vour Application Form. No marks will be awarded, if the answer 1s written
in any other medium. All the five questions must be answered. Questions
should be answered exactly in order in which they appear in the question

paper. Answers to the various parts of the same question should be written
together compulsorily and no answers of other questions should be inserted
between them. Regular calculator alone can be used in exam, not the scientific

oIle.

The first question will be of short answer tvpe consisting ot 20 COMpuisory

questions, each one is to be answered in one or tico lines.
Bl I WE 4 R § ITF 55T Ted FL

Wherever word limit has been given, it must be adhered to.

afz fpdt wvT # & TET S FE S0 A1 qAHS YRR i FE qA, N W ®
fr gen TS BUIET T = Ul ®UR AMFe O SR |

In case there is anyv error of printing or factual nature, then out of the Hindi

and English versions of the question, the English version will be treated as

standard.
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. frefafed w Ry stdeeasen & Tl § ue a1 & gl § feonn fafed - 20x3=60

Write in one or fwo lines on the following in the context of Indian

economy :

(A) e =1E 2002
Competition Act 2002.

(B) HIUM AR IS =T
MNREGA and social justice

(C)  wfeeT el
Contract farming

(D) ‘fHESE 9 9 F EHed 7

What do vou understand by ‘Planning

Share of Agriculture sector in Gross Domestic Production of Madhyva

Pradesh.

-, [

(F)y faevi I warg =i fown sl wWe sifaw |

Brieflv clarifv the directional flow of foreign capital.

M1322010 13(2) P.T.0.



() Y[H guR w1 AfYE gE |

Economic impact of land reform.
(H) < 3o 8 Y Scgswdl &1 gRwfaa wifsd |

Define agricultural production and productivity.

) g Aifa qwr gEewifa
Monetary policy and inflation.
(J) SR YUY qYl YEaE v™ OH OSTRR |
Difference between balance of trade and balance of payment.
K) ‘I oneiRa we w1 ouRefe s
Define ‘zero base budgeting’.
(L) & d<aR & & W A
Suresh Tendulkars report on poverty.
(M) w99 ¥ o7 faem fm =1 gfawr

Role ot Forest Development Corporation in Madhya Pradesh.

M1322010 13(2)



(N) &= I ek |

Regional Rural Bank.

(Q) AT Ut AT — 2008.

Industrial Park Plan—2008.

(P}  HEHaAd HI&FF |

Maha-navratna index.

(Q) T & I &Il &Y

Corporate Tax or Company Tax.

Disaster relief fund
(S)  HelYd 23 Td WIgEA MG W H HAIH |

Infterence between reference rate and prime lending rate.

(T) &R &fhT

Core banking.

M1322010 13(2) P.T.0.
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2. aﬁqﬂﬁaﬁﬂwmm%ﬁaﬁﬁw%,mﬁmmﬁm
IAeA AR Hedl o @ ¥ | oAk iy | 60

Although the agriculture sector shows its best performance in present pro-

spective, its share in National income 1s continuously decreasing. Evaluate it.

HAAT

(Or)

aﬁ%ﬂﬁwwrﬂwﬁmwwaﬁ%?wmaﬂqﬁaﬂehm,wmﬁw
F foom § T 9%hd e § | favewm wifsT |

What do you understand by the commercialization of Agriculture Sector 7

Is modernization of agriculture sector. a result oriented step for commerciali-

zation 7 Analyse 1t.

3. serdrerTy, fasieRtm qan SesAEE (LPG) &1 =i &3 & 9™ q qUE &I
fag=T hilsTe | 60

Describe the impact of liberalisation, privatisation, and globalisation (LPG)

on the development of industrial sector.

Or
F__J- o L Y - L 9 = + L ™ %- - - - r
- —— . » " — e ———— - - - - -y —— S — — ——— dnl- “——— '-I—-'.._ W— ¥
FT 3w =87 HESF <= 3 maw w8 = =t moe R 0 A 21

[s economic reform been able to achieve the target of social justice ? Explain

logically.
M1322010 13(2)
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“Ample foreign exchange currency and constant poverty’—Clearly explain 1t

with special reference to the development of Indian economy.

HAAT
(Or)

“SfET &9 T gU gYR, S1USEw] & 3TIEY Ul € | e geehiv ¥ HHERT |

Explain critically. “The reforms and improvements in banking sector 1s correct
In accordance to Indian economv.
Aefefeg § 9 &8 9 T 98 J99g F T899 § (Tds W A9 200

viee] §) femoit fafEm 4x15=60

Discuss in brief (not more than 200 words each) on any four of the following

in the context ot Indian economy.

(A) T Frafrg srofsgaren @@ SR i sideqaeen
State driven economy and Market driven economy.
B) w& 77 T 4% ¥ fowm @t geEEd

Prospects of development in agriculture sector of Madhva Pradesh.

M1322010 13(2) P.T.O.
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(C) B0 AdHTTIT I IR |

Problems of urban economy.
(D) 9RA k1 AIG-31a@ o |
The export-import bank of India.
(E) fava =amMR w187 g sy fafq
World Trade Organisation and Agriculture Export.

(F) O Y31 O TIYHl &1 faeiadr |

Mobility of infrastructures in Madhya Pradesh.

M1322010 13(2)



